Algebra1  Bellwork  Tuesday, April 21, 2015
1. Find the equation for the Line of Symmetry for each parabola.
a) y=4x*+10x-7 b) y=-3x2+6 c) y=-2x*-12x

2. Find the coordinates for the vertex of each parabola.
a) y=6x*-11 b) y =4x*+10x-3 c) y=-—x*-8

3. Find the y-intercept for each parabola.

a) y=9x*+3x-8 b) y=5x*+1 c)y=—2x2+12x

4. Graph each parabola using at least five points.
a)y=3x2-12x+38 b) y=-2x2-12x-12
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5. An object is shot into the air from the roof of a 50 foot tall building. The following function models the
height of the object as a function of time: A(r) = —16> + 144t + 50

a) Find the time it takes the object to reach its maximum height.

b) Find the maximum height of the object.

6. A company makes parts for automobiles. The company wants to maximize its income. Their income
is a function of the number of hours each week the factory is in operation. The following equation models
the company’s income as a function of the number of hours each week the factory is operating:

I(h) = —6h? + 768h + 2450

a) Find the number of hours the factory should be operating in order to maximize their income.

b) Find the maximum income.
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2. Find the coordinates for the vertex of each parabola.

a) y=6x*-11 b) y=4x2+10x-3 c) y=-—x2-8x

8

LoS - Los - )

Lo2 T =9 ;

X,,:zg:-,g(o,"b\ X F5e—fs” //'“/ 72 (‘L/, Ka) N S
B 3. Find the y-intercept for each parabola. ,

a) y=9x2+3x-8 b) y=5x*+1 c) y=-2x*+12x
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4. Graph each parabola using-at least five points.
a)y=3x2-12x+38 b) y=-2x2-12x-12
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5. An object is shot into the air from the roof of a 50 foot tall building. The following function models the

I\

height of the object as a function of time: A(z) = —16¢* + 144¢ + 50 (L, h)
) Find the time it takes the object t h-it i height MoK
a) Find the time it takes the object to reach-its maximum height.
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ot 6. A company makes parts for automobiles.”The'company wants to maximize its income. Their income
is a function of the number of hours each week the factory is in operation. The following equation models

the company’s income as a function of the number of hours each week the factory is operating:
N 1I(h) = —6h* + 768k + 2450
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b) Find the maximum income.
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